MARIS STELLA HIGH SCHOOL (PRIMARY)
PRELIMINARY EXAMINATION
PRIMARY & MATHEMATICS
18 AUGUST 2023
PAPER 1

(BOOKLET Aj

15 questions
20 marks
Tatal time for Baoklets A and B: 1 houg

INSTRUCTIONS TO CANDIDATES

1.

2.

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO SO.

FOLLOW ALL INSTRUCTIONS CAREFULLY.

ANSWER ALL QUESTIONS.

SHADE YOUR ANSWERS IN THE OPTICAL ANSWER SHEET (OAS) PROVIDED.

YOU ARE NOT ALLOWED TO USE A CALCULATOR.
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Questions 1 1o 10 camry T mark each. Questions 11 fo 15 carry 2 marks eache.
For each questiaon, four oplions are givan. One of them is the cortect answes.
Make your cheice (1, 2, 3 or 4} and shade your answer on the Optical Answer Sheef.
(20 miarks)y

1. Which of the {ollowing is seventy-five thousand and thirly in nureerals?

(1) 7530
(2} 75030
(3) 75300
(4) 750030

2. The diagram shows a tablet used in a lesson in the classroom. Which of the
following could be the mass of the tablef? '

(ty 8g

2y 8kg-
(3} 80kg
(4) 800g

& Arrange these fractions from the smaliest to the largest.

5 7 5
Smallgst Largest

1)

@)

@)

)

)
-

We W W
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-
]

1
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4. Whichnumberis trofargest? |
{1} 078
@ 08T
3y o708
(4) 0807

5. Express 3—2%5- as a decimal.

() 32
@ 38

230

Express 3080 em in m.

7. Round 3.465 to 2 decimal places. . .
(1) 340
(2} 346
(3) 347
(4 3.50

g In @& basket, there ware 4 apples, 8 pears and 12 papayés. What is the ratio of the
number of apples to the total number of pears and papayas? :
(y  1:5 ' |
{2} A:t
£3) t:2
{4} 1:3

2
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9,

10.

Which 2 lings ara paraliel to each other?

.,‘
N
P PR

{1}
(2)
(3)
@)

Ay and DG
AGand BF
AG and CE
BFand CE

VWhich of the following is & net of & cuba?

(1)

(3}

4)

3
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44 —The table shows-the marks Scored-by 5 StUBEALS I 888t o oo :

iiarks 20 80 -1 T AR T

Which of the f.oll'mwﬁhg bargraphs represents ﬁn\e-' inf’dfméﬁon 'sho'u'ﬁ;ﬁ in the table above?

()

Marks

@

tarks

(3)

Mafks

(4}

Masks
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12. In the figure, AB, CD and EF are straight fines. Find <AQF.

o E

¢y 420
@y 45
@
(4 87

13. Tom and Jerry were standing at X, facing the same place at {irst. Tom tumed 80°
clockwise o face the Library and: Jercy tumed: 225 anti-clockwise. Where will Jerry face in

. the end?

Supermarket
Church & Sctinol

 Blusem:

Playground <

Park Library

Past Oifice

(1) Church
€2} Paost Office
(3} Park

(4} School

5
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14. The table below shows thée'raﬁga of:' marks ':séofed by é{ groﬁp Eﬁ 22‘.@ s'ts'i'd?éh:t's m a

campedition.

Marks “Numhbér af studanis
7 w248

8a P 11

85 Y 36

99 - §

at s the minimum score

20% of the sfudents in this group qué.i_ﬁfeci far the next round. W
needed {o qualify for the next round?

y 78
2 &
B3y 8§
4y @

15. Alaparty, 26% of the peoplewere mern, 55% of (he remaining peaple were: warnen and!
the rest were children. There wera T00 men. How mary children were there at the pary?
(ty 125
(2) 189
{3y 220
(4] 500

END OF BOOKLET &
GG TG BOQOKLET 8

6

For mare papers, Go to: SeriousfAboutEchool comdOnlineExams



FSLE
[ndex Na.

PRIMARY 6 MATHEMATICS
18 AUGHST 2023
PAPER 1
(BOOKLET By

18 questions
28 marks
Total fime for Booklets & and B: 1 hour

CLASS : PRIMARY &

INSTRUCTIONS TO CANDIDATES

1. DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO SO.
2. FOLLQW ALL INSTRUCTIONS GAREFULLY.

3. ANSWER ALL QUESTIONS.

4. WRITE YOUR ANSWERS IN THIS BOOKLET.

B. YOU ARE NOT ALLOWED TO USE A CALCULATOR.

MARKS OBTAINED FOR

| PAPER 1 (BOOKLET [ 20

Parent’s Signature:

Jlparer ¢ BooKLET B /25
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Questions 16 to 20 carry t mark each. Write your answers in the spaces provided. For

guestions. which require unis, give your answers in the units stafed.

(5-marks)

‘ Do not
' write ire
this

 space.
16. Find the value of (74 - 36y x 10+ 6 + 2 !'
Answer
17. How many sixths are there in 3 ?
Answer :
18. Find the value ¢f 12.2 - 5.47
- Answer :

7
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T 4a T Hiow ek water (in il i in the container?

Angwer

' write o
this
| space.

20. Given ihe ine of symmelry fine AB, shade Z squares to camplete the symmetrie
figure.

: =
o i
:ﬁ .
N & :
! = .
.
i
3
: [
i .
i

'8 SCORE
<t page)
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Questions 21 to 3¢ carry 2 matks each. Stiow your working clearly and write: your answers in
the spaces provided. For questions which require units, give your answer i the: units stated.
(20 marks})

21. (a}  Find the value of 1 - %-%

Apnswer : (a)

(b}  Findthe valug of 11 + %

Arnswer: (b)

22, Denise answered 20 questions in & sucvey. She foak 3 min: t‘aﬁeach af the first 10
questions and twice as long for each of the remaining questions. She started her
survey at 1.20 p.m. At what ime did she complefe her stirvey?

Answer : P

: Do not
Fwrite in,
s

space.

9 SCORE
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SR T Fram the figure below, WAL is the itk furber of unit cubes that needstorbe ) DAk — -
. “added fo form a cuboid? - o S jwiltein
A ' C lts

space.

Answer

24. " The rafio of the number of stickers Kingston had to the number of stickers Tim had
was 8§+ 5. After Kingston gave away 44 stickers, Tim had fwice as many stickers as
“Kingster, How many stickers did they have at first?

Answer -

10 ~ SCORE

) o T Tage)
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25,

Pauline drove from her home fo her office. The distance between her home and her
office was 24 kim. The average speed of her car was 60 km/h. Pauline left home at
0815, what time did she reach her office?

Angwer .

Do not
- write in
- this

r SRAace.

28,

The pie chart shows the favourite snacks of students it School A and B.

Schoal A School B

~ Patato chips "

| Potato chips \

Chocalates
'{.
3

Each statement below ig either frue, false or not passible o tell from the information
given. For each statement, put a fick (N} in the correct columrs,

f § . Mot ¢
Statement . True False | possibleta |

tall

An equat number of sfudents in Schaol A and |
School & chose candy as their favourite i
shagck.

% of the studetits in Schoal B chose

ehacolates and candy as their favourfe
snacks.

1% SCORE
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. 27, Aparalislogram, ABCD is drawn ot g square.gid. o - jDonet

(aj Draw a triangle that is % the area of the j:aralfélﬂgram ABCD. Label it EE-‘G :;jca

{a} Draw & parafelograrm that hias twice the perimeter as the paralielogram |
ABCD: tabel 8 WXYZ

Both triangle FFG and parallelogeam WXYZ shauld not overtap parallglogram: ABCE |
and each: other.

28.  Andy had $8x. ARer buying apples at 60¢ eachy, he had $2x left. How many apples
did Andy buy?

Answer -

12 SCORE

P8 mom fm Py moesof mqg&j}.
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2%, Benedict has 2 cubical tanks, A and B. The large cubical tank A has twice the
length, twice the breadth and twice the height of the smalt cubical tank B. The small
cubical tank B is filled completely with: & identical cubes, how many of such cubes is
neaded to {ill the large cubical tank A complefely?

Answer :

' Do not

' write in
i this

' space.

30. lev the figure, DEF is & straight line. ZDEH = 1507 and £GEF = 110°. Find ZGEH.

G

Answer

End of Booldet B

12 - - ' c=‘l"0RE.=.
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MARIS STELLA HIGH SCHOOL (PRIMARY)
PRELIMINARY EXAMINATION
PRIMARY 6 MATHEMATICS
18 AUGUST 2023
PAPER 2

17 questions
55 marks
Time: 1 b 38 min

CLASS : PRIMARY &

INSTRUCTIONS TO CANDIDATES

1.
2. FOLLOW ALL INSTRUCTIONS CAREFULLY.
3.

4. SHOW YOUR WORKINGS CLEARLY AS MARKS ARE AWARDED FOR CORRECT

DO NOT QPEN THIS BOOKEET UNTR YOU ARE TALD TO DG SO

ANSWER ALE QUESTIONS.

WORKING.

§. WRITE YOUR ANSWERS [N THIS BOOKLET.

YOU ARE ALLOWED TO USE A CALCULATOR,

145 | parent's Signature:

{55

[1ag
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Questions 1 to § carry 2 marks each. Show your working clearly and write your answers Do not
in the space provided. For questions which: require unils, give your answers i1 the: unifs write i
stated. (10 marks) this
space.

1.  The pie chart shows how Michael spent his money.

(a) How much money did Michael spend on: the bock?

Answer: (a}$

()  What parcentage of Michael's maney was spent on lunch?

Answer: (B % f

. L . SCORE
L "‘La- ['E&Kt ﬁag—e'} i
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'3 The bar graph shows the number of cups of ice cream édfﬁfﬁrﬁ_a shop. o lwriten
A - | thisspace
350

300 |

280

Number 290
of cups 150

100
50
0 :

Monday ; Tuesday Wednesday Thursday

What is the average number of cups of ice crear sold eact: day?

ANSWer .

3. Jimmy gave his maother $1200 of his salaty. He gave '35‘ of the remainder of his

salary fo his brother and had -Z'{ of his salary left. What was: Jimmy's salary?

Answer: §

2 SCARE
£ i b Bom, ey, pag&} 4
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4.

Namber
of tays

The graph shows the number of toys sold by a shop from March to June,

o3

80

70 | , /
60 | - | <

ok
arch April WMay June

I which 1-manth interval was the percenfage increase: of toys sold the mosty

Answer : fo

3 - SCORE
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| 5 A 1 m wide path cuts across a rectangular field along its length and: breadth, fﬁrhﬂ'ﬂﬂg !
.. a path as shown. What is the area of the path? .

T&m

1 mwide |
path

Answer: mZ §

& . :-  SCORE
= 7 «tpagel
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For questions & fo 17, show your working clearly and wete your answers i the spaces
provided. The number of marks available is shows (n brackefs { | at the end of each
questian. (45 marks})

6.

Mr Lee had a pisce of wire: 26y cia lang. He used the wire to form: & rectangle, with,
length and: breadth rmeasusing 2y crm and 26 csm.

g

fay  Express the length of the remaining wire i terms of y.

Argwer  {a} : A

(by  MrLee used the remaining wire to make a square. By =4, what was the 3
length of one side of the square?

Answer : (D) f2}

7.

The diagram below shows 4 idenfical right-angled isosceles rangles with a
quagdrant within it. The quadrant has a radius of 7.5 e

e - — s -

(Take &= 3.14)

Find the: avea of the shaded part.

Answer . i3]

Da not
write in
s
Space.

g SCORE

next page} |
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- | Da not
oo write iy
Space.

& Thofigure shois & siuare ABGD. EF =BF =EG.Find ZFGH.

Answer : (3

- . SCORE
= o extpage}|
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At 8 a.m., Joey travelled fram Town X o Town Y at & canstant speed of 120:kmih. At § Do not
the same fime, Madeline fravelled from Town Y fo Town X ab & consfant speed of 98 [ write in
k. At 9.20 aum, they were 50 km apart affer driving past each offwee. What is the § 15

disfance bebaman Tovwn X and Town Y7 space:

Answer : - i3

o : L% mpym o, 4P ﬂ&xﬁ page) :
For mare papers, Go to: SeriousfAboutEchool comdOnlineExams ‘




_ ‘lt} X is a. cablcal fank of sides 20 cme and Y is & rectangular tank. The base of¥ has. - i Bonot

_ dlmensmns as shawn. Xwas fuﬁy filted with w&tec and Y was emgzty o -t wirite in
: ' ks
space.
i 'a;
 S—
o / 20 em
X G0 cm

Samuel poured some water fiom X into Y withoo spiling. After that, the heighis of the
water level of X and Y were the same. What was the finat height of the water level in
hath tanks?

AnSwer : (3

8 _ score |
) ) < page} |
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1. The table shows the scores of 4 students In a Math test. Some of the scores are

covered by an ink pate.

Name Test Score
Aloysius. 6
Benedict g
Charles: 7 l
§ Daminic §7 |

The average score of Charles ang Dominic is 80. The average score of Aloysius,
Benedict and: Chasles is 74. What s the largest possibie score that Benedict has

achieved?

For mare papers, Go to: SeriousfAboutEchool comdOnlineExams
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g ' SCORE

- Do rict

write in
this

 space.
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- 12.

Pater had seme stickers. He gave half of them and an additionat G0 stickars o
Samuel. Next, he gave half of the remainder of the sffckers and’ an addxtra mal 30
sfickers o Troy. He then gave 40 stickers to each of his 3 s1b|:ngs and had 160
stickers feft. daw pany sfickers did Peter have at fiest?

Answer : 45

Do not
{his
spacae.

10 SCORE

. £32m oy s e eyt paga?
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i R % Do net
13.  There were 400 adulls atfending & concert ira stadium. During the: break, 3 of the | write in
. ! this
men and % of the women lef the stadium. 224 adulis remained in the stadium. space.
How many women were there I the: stadium at first?
?_
3
Answer : [4]
11 ' 'SCORE |
For mare papers, Go to: SeriousfAboutEchool comdOnlineExams 3 mext pa‘gﬂ}




14, [ the figure, a rectangular piece of paper is folded twice. £GDA = 36" and
- AADE:-LQB' o st e B o . .

Answer : (@}

¢ ro aof
fwrilein
this

SRACe.

(21

()  Find 2DFE.

Amswer : {b])

B2
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15.  Inthe morning, Mrs Chen-baked muffins of 3 different flavours ~ chocelate, Do not
strawberry and vanifla. The ratio of the nurnber of chacolate muffing fo the number of | write: i
strawberry muffing was 3 : 5. There were 28 more strawberry muffing fhan chocalate | 1O
muffins. There were 10 more vanilla muffing than strawberry muffins. space.

(@}  How many vanilla muffins did she hake i the morning?

Answer : {a} (2]

Iee e dteennon, she baked some: mote cliocolate and vanilla. muffing. The tofal
nuraber of chnocotafe and vanitiz muffing Became thrice the number of sfrawberry
muffing. The perceniage increase of the chocelate muffins was betwesn 8% o 10%. |

(b} Haw many vanilla muffing did she bake in the afternogn?

Answer : (b)) (3] ¢

3 SCORE |
o  nextpage)
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18,  The figure shows a circle and & identical quarter cireles. The radius of sach quarler | e in
c{rcle |ss mzrw E_me XY passes fhmugﬁfhe centra oftfle cu:clen L this
B T ST s T B AR -3 o (o=

(Take &= 3.14)

(ay Find the area of the shaded parl.

poswer:tel [

(b}  Find the perimeter of the shaded part

Answer : (B) _ 3

. D@ e e

4 SCORE
{Go on fo the text pags} |

For mare papers, Go to: SeriousfAboutEchool comdOnlineExams



17.

i June, Mr Tan saved 20% of his salary. I July, his monthly salary increased by Do not
$600 and he saved 15% of his new monthly salary. Given that Mr Tan saved the - write in
same amount of money i bofhy months, find the percertage increase in Mr Tan's | this

salary. space.

Answer : [5] §

End of Paper 2

15
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EXAM PAPER 2023

LEVEL : PRIMARY 6
SCHOOL : MARIS STELLA HIGH SCHOOL {PRIMARY)
SUBIJECT : MATHEMATICS
TERM : PRELIMINARY EXAMINATIONS
PAPER 1
BOOKLET A
Q1 Q2 Q3 Q4 Q5
2 4 3 2 3
Q6 Q7 Q8 Q9 Q10
4 3 1 4 3
Qn Q12 Q13 Q14 Q15
1 1 2 3 2
Booklet B
16 383
17 32
18 6.73
19 26 m¢

20 b,

2 2) )5
Q22. 250 pm

Q23. 23

Q24. 104

Q25. 0839

Q26. Not possible to tell, False
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27 (T ] LT =
| L~
! 37
B PPl ||
RN
N I |
[ - - 3
.
! Y |
| - 2
EREE 2]
28 3x
0.6
29 64
30 80°
Paper 2
1 a)38 + 12+ 10 = 60
60 +~ 3 =$20
b) 20 x 4 = 80
—o X 100% = 12.5%
2 (250 + 180 + 300 + 230) + 4 = 240
3 3x4=12
1200 + 4 = 300
300 x 12 = $3600
4 30 ), .
L3 100% = 60% (May to June)
20
— % 100% = 100% (March to April)
i—g— % 100% = 25% (April to May)
_Ans: March to April ...
5 17 x 7 = 119
18 x 8 = 144
144 - 119 = 25 m?
6 a) 2 (2y +20) =4y + 40

26y - (4y +40) = (22y-40)cm

(22 x4)-40=48
b) 48+ 4 =12 cm
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Q7.

Qs.

Qs.

3.14x 7.5% 7.5 = 176.625
-;- % 7.5 x 15 = 56.25

56.24 x 4 =225
225 - 176.625 = 48.375 cm?
60° + 2 = 30°
180° - 30° = 150°
120+ 60 =2
80 x 2 =160
90+60=15
1.5x80=120
160 -50=110
120-50=70

110 + 70 + 50 = 230 km

10

20 x 20 x 20 = 8000
(60 x 20) + (20 x 20) = 1600
8000 + 1600 = 5cm

11

80x2=160
160-82=78

74%x 3 =222
222-78=144
144 -80-60=4

80+4=284

12

100 + (40 x 3) = 220
220 + 30 = 250

250 x 2 = 500

500 + 60 = 560
560 x 2 = 1120
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Q13.

Q14.

112 Vo
32 3

1-2=2
5 5

400- 224 =176

176 x 3 =528

$_3_2_14

5 5 5

528 - 224 -176 =128

128
T><5=160

a)  180°-90°-36°=54°
by 3€°-10°=26°

26°+2=13"°

180°-90°-13°=77°

Q15. a) 28+2=14
(14x5)+ 10 =80
15 b)C:S:V
42 :70:80
70x3 =210
210-80-42 =88
88-4 =84
16
a) b)
(8x3)+2=12 3.14 x24 =75.36
3.14 % 12x 12 = 452.16 + X314 x 16 = 12.56
1 12.56 x 6 = 75.36
4%3.14%x8x8=50.24 (75.36 x 2 ) + 8+ 8 = 166.72 cm
50.24 % 6 = 301.44
452.16 - 301.44 = 150.72 cm?
17

% of June = % of July
= of June == of Jul
15 Ofjune=--0 July
600+ 5=120

120 x 15 = 1800

600 .o o1
mx 100—-333%
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